Revision Answers

Chapter 3 Accounting for Provisions, Contingencies and Events after the Reporting Period

Answer 1
1. Under IAS37 ‘Provisions, Contingent Liabilities and Contingent Assets’, a provision should be made at the reporting date for the discounted cost of the removal of the extraction facility because of the following reasons:
(i)
The installation of the facility creates an obligating event
(ii)
The operating licence creates a legal obligation which is likely to occur

(iii)
The costs of removal will have to be incurred irrespective of the future operations of the company and cannot be avoided

(iv)
A transfer of economic benefits (i.e. the costs of removal) will be required to settle the obligation

(v)
A reasonable estimate of the obligation can be made although it is difficult to estimate a cost which will be incurred in twenty years time (IAS 37 says that only in exceptional circumstances will it not be possible to make some estimate of the obligation).
2. The cost to be incurred will be treated as part of the cost of the facility to be depreciated over its production life.
3. However, the costs relating to the damage caused by the extraction should not be included in the provision, until the gas is extracted which in this case would be 20% of the total discounted provision. The accounting for the provision is as follows:
[image: image1.emf]
Note 2

A simple straight line basis has been used to calculate the required provision for damage. A more complex method could be used whereby the present value of the expected cost of the provision ($10m) is provided for over 20 years and the discount thereon is unwound over its life. This would give a charge in the year of $0·5m + $10m × 5% i.e. $1m.
Answer 2 – Gear Software
Report to the Directors of Gear Software plc
(i)
Cost centres

· IAS 8 ‘Accounting Policies, Changes in Accounting Estimates and Errors’ sets out the principles relating to changes in accounting policies. It helps to determine the correct treatment in the case of the changes in the allocation of overheads and the accounting policy relating to the development of software.
· A change in accounting policy occurs when there is a change in the recognition, measurement and presentation of the item.
· A change in accounting policy should only be made if required by statute, or by an accounting standard setting body or if the change results in a more appropriate presentation of events or transactions.
· The accounting policies of the company should be the most appropriate to the company’s circumstances, giving due weight to the impact on comparability.
· Estimates are bound to occur in the accounting process and are required in order to enable accounting policies to be applied. Accounting estimates will be based on judgement and should ensure the truth and fairness of the financial statements.
· However, unlike a change in accounting policy, a change to an accounting estimate should not be treated as a prior period adjustment unless it represents the correction of a fundamental error. The effect of an accounting estimate change should be included in the income statement for the current period if it affects the period only or in the income statement of the future period also if the change affects both periods.
· The indirect overhead costs have been directly attributable to the two cost centres and have been included in the inventory valuation in the statement of financial position. There is no change in the recognition policy of the company as regards the overhead costs; all that has changed is the ratio/allocation of those costs from 60:40 to 50:50. Similarly the basis of measurement of the overhead costs does not appear to have changed.
· However, part of the costs relating to the sale of computer games is now being shown as part of distribution costs and not cost of sales and, therefore, this constitutes a change in the presentation of that cost which in turn represents a change in accounting policy. IAS 8 states that if the change results in a more appropriate presentation and more relevant or reliable information about the financial position, performance or cash flows, then it constitutes a change in accounting policy.
· The direct labour costs and attributable overhead costs relating to the development of the games was formerly carried forward as work-in-progress. In the year to 31 May 2003, these costs have been written off to the income statement. This represents a change to the recognition and presentation of these costs and, therefore, is a change in accounting policy.
Details of any changes to accounting policies need to be disclosed in the financial statements. these details include:

(1)
the reasons for the change;

(2)
the amount of the adjustment recognised in net profit for the period; and

(3)
the amount of the adjustment in each period for which pro-forma information is presented and the amount of the adjustment relating to periods prior to those included in the financial statements.
· It appears that the first two items relating to the changes in accounting policy can be disclosed without too much difficulty. However, non-disclosure of the impact on the current year’s income statement of the write off of the development costs does not follow the guidance in IAS 8.
(ii)
Computer hardware and revenue recognition

· The capitalisation of interest on tangible non-current assets, is permitted under IAS 23 ‘Borrowing Costs’. This represents a change in the recognition and presentation of the tangible non-current asset and is, therefore, a change in accounting policy which requires disclosure.
· The change in the depreciation method does not affect the recognition and measurement of the asset, and represents a change in an accounting estimate technique which is used to measure the unexpensed element of the asset’s economic benefits.
· However, as depreciation is now being shown as part of costs of sales rather than administrative expenses, then this represents a change in the presentation of the item and is a change in accounting policy. A change in an accounting estimate is not normally a change in accounting policy. Disclosure of the change in policy will have to be made (see above).
· IAS 8 states that a company should judge the appropriateness of its accounting policy against the objectives of relevance and reliability. A company should implement a new accounting policy if it is judged more appropriate to the entity’s circumstances than the present accounting policy.
· Thus, for the reasons of relevance, the company should adopt the normal industry approach which would constitute a change in the measurement basis and thus a change in accounting policy with the necessary disclosure taking place (see above). Also given the potential charge against profits under IAS 37 below, then the new accounting policy might alleviate the impact of the provision.
(iii)
Provisions

· Under IAS 37 ‘Provisions, Contingent Liabilities and Contingent Assets’, a provision should be made if

(1)
there is a present obligation as a result of a past event;
(2)
it is probable that a transfer of economic benefits will be required to settle the obligation; and

(3)
a reliable estimate can be made of the amount of the obligation.
· The assessment of a legal claim is one of the most difficult tasks in the area of provisioning because of the inherent uncertainty in the judicial process. A provision or disclosure could in fact prejudice the outcome of any case.
· A provision will be required if on the basis of the evidence, it can be concluded that a present obligation is more likely than not to exist (subject to meeting the other conditions).
· In determining whether a transfer of economic benefits is likely to occur, account should be taken of expert advice and the probability of the outcome determined. Only in rare cases will a reasonable estimate of the obligation not be possible.
· In the case of the invoice from the accountants, it seems as though the solicitors feel confident that the amount will not be payable and, therefore, it constitutes a contingent liability which, under IAS 37, means that the estimated financial effects, any uncertainties relating to the amount or timing of any outflow, and the possibility of any reimbursement should be disclosed.
As regards the plagiarism case the following table illustrates the potential outcomes:
	
	
	Year
	PV at 5%
	Probability
	Total

	
	$000
	
	$000
	
	$

	Best case
	500
	1
	476
	30%
	142,857

	Most likely
	1,000
	2
	907
	60%
	544,218

	Worse case
	2,000
	3
	1,728
	10%
	172,768

	
	
	
	
	
	859,843


The most likely outcome seems to indicate that a provision for $907,000 is required whereas when probability is introduced then this is reduced to $859,843. The difference, considering that an accounting estimate has been used, is not material and, therefore, a provision of $860,000 should be made as this is based on a more ‘scientific’ approach.
(iv)

· A company should, under IAS 1 ‘Presentation of Financial Statements’, prepare its financial statements on a going concern basis. IAS 1 defines a going concern as an enterprise having neither the intention nor the need to liquidate or to cease its operations within at least 12 months from the balance sheet date.
· Management is required to assess the enterprise’s ability to continue as a going concern at each reporting period. If there are material uncertainties about a company’s ability to continue as a going concern then those uncertainties should be disclosed. Thus, the fears concerning the viability of the company in the event of the worst outcome of the court case may have to be disclosed.
ACCA Marking Scheme

	
	
	Available
	Maximum

	(i)
	HKAS 8 explanation
	4
	

	
	Cost centres
	6
	

	
	
	10
	9

	(ii)
	Hardware
	3
	

	
	Revenue recognition
	3
	

	
	
	6
	6

	(iii)
	Provisions
	8
	7

	(iv)
	Going concern
	3
	3

	
	Report
	2
	

	(b)(ii)
	Property
	5
	

	
	Total
	29
	25


Answer 3 – Wader
(a)

· Wader has to estimate the net realisable value (NRV) of the inventory and compare this to its cost as IAS 2 ‘Inventories’ requires inventory to be valued at the lower of cost and NRV.
· NRV is the estimated selling price in the ordinary course of business, less the estimated cost of completion and the estimated costs necessary to make the sale.
· Any write-down should be recognised as an expense in the period in which the write down occurs. Any reversal should be recognised in the income statement in the period in which the reversal occurs.
· The list selling price should be reduced by the customer discounts as this represents the proceeds to be received when the sale is made.
· The warehouse overhead costs will be incurred regardless of how long the inventory is held and are not necessarily incurred to effect the sale.
· It is appropriate to include personnel costs in the estimate of NRV but only where they are necessary.
· In this case the variable component of personnel salaries (commissions) will be taken into account but not the fixed salaries as they are normal overheads and do not influence the sale of the product.
	
	$

	List price
	50

	Customer discounts
	(2.5)

	Commissions – sale
	(10.0)

	Net realizable value
	37.5

	
	

	Cost
	35.0


· No write down of this product is, therefore, required.

(b)

· IAS 16 ‘Property, Plant and Equipment’ requires the increase in the carrying amount of an asset to be credited directly to equity under the heading ‘revaluation surplus’.
· The increase should be recognised in profit or loss to the extent that it reverses a revaluation decrease of the same asset previously recognised in profit or loss. If an asset’s carrying amount is decreased as a result of a revaluation, the decrease shall be recognised in profit or loss.
· However, the decrease is debited to equity (revaluation surplus) to the extent of any credit balance existing in revaluation surplus in respect of that asset. The buildings would be accounted for as follows:
	
	Year-ended
	

	
	31 May
	31 May
	

	
	2006
	2007
	

	
	$m
	$m
	

	Cost/valuation
	10
	8
	

	Depreciation ($10m/20)
	(0.5)
	(0.42)
	($8m/19)

	
	9.5
	7.58
	

	Impairment to profit or loss
	(1.5)
	
	

	Reversal of impairment loss to profit or loss
	
	1.42
	

	Gain on revaluation – revaluation surplus
	
	2.00
	

	Carrying amount
	8.0
	11.00
	


· The gain on revaluation in 2007 has been recognised in profit or loss to the extent of the revaluation loss charged in 2006 as adjusted for the additional depreciation (1.5 ÷ 19, i.e. $0.08m) that would have been recognised in 2007 had the opening balance been $9.5 million, and the loss of $1.5 million not been recognised.
· This adjustment for depreciation is not directly mentioned in IAS 16, but is a logical consequence of the application of the matching principle and would be against the principle of IAS 16 if not carried out.
(c)

· A provision under IAS 37 ‘Provisions, Contingent Liabilities and Contingent assets’ can only be made in relation to the entity’s restructuring plans where there is both a detailed formal plan in place and the plans have been announced to those affected.
· The plan should identify areas of the business affected, the impact on employees and the likely cost of the restructuring and the timescale for implementation. There should be a short timescale between communicating the plan and starting to implement it.
· A provision should not be recognised until a plan is formalised.
· A decision to restructure before the balance sheet date is not sufficient in itself for a provision to be recognised.
· A formal plan should be announced prior to the balance sheet date.
· A constructive obligation should have arisen. It arises where there has been a detailed formal plan and this has raised a valid expectation in the minds of those affected.
· The provision should only include direct expenditure arising from the restructuring.
· Such amounts do not include costs associated with ongoing business operations. Costs of retraining staff or relocating continuing staff or marketing or investment in new systems and distribution networks, are excluded.
· It seems as though in this case a constructive obligation has arisen as there have been detailed formal plans approved and communicated thus raising valid expectations. The provision can be allowed subject to the exclusion of the costs outlined above.
· Although executory contracts are outside IAS 37, it is permissible to recognise a provision that is onerous. Onerous contracts can result from restructuring plans or on a stand alone basis.
· A provision should be made for the best estimate of the excess unavoidable costs under the onerous contract.
· This estimate should assess any likely level of future income from new sources. Thus in this case, the rental income from sub-letting the building should be taken into account. The provision should be recognised in the period in which it was identified and a cost recognised in the income statement.
· Recognising an onerous contract provision is not a change in accounting policy under IAS 8 ‘Accounting Policies, Changes in Accounting Estimates and Errors’.
The provision will be the lower of:
	
	2008
	2009
	Total

	Scenario 1
	$
	$
	$

	Rent
	150,000
	150,000
	

	Discount rate
	1.05
	1.052
	

	Present value
	142,857
	136,054
	

	Sub-let income
	(100,000)
	(95,238)
	

	
	42,857
	40,816
	83,673

	
	
	
	

	Scenario 2
	
	
	

	Rent
	270,000
	
	

	Discount rate
	1.05
	
	

	Present value
	257,142
	
	

	Sub-let income
	(100,000)
	
	

	
	157,142
	
	


Therefore, the provision would be $83,673 as this course of action would be more beneficial to the company.
Answer 4 - Greenie

IAS 37, states that an entity must recognise a provision if, and only if:

(i)
a present obligation (legal or constructive) has arisen as a result of a past event (the obligating event),

(ii)
payment to settle the obligation is probable (‘more likely than not’), and

(iii)
the amount can be estimated reliably.
An obligating event is an event that creates a legal or constructive obligation and, therefore, results in an entity having no realistic alternative but to settle the obligation.

At the date of the financial statements, there was no current obligation for Greenie. In particular, no action had been brought in connection with the accident. It was not yet probable that an outflow of resources would be required to settle the obligation. Thus no provision is required.
Greenie may need to disclose a contingent liability. IAS 37 defines a contingent liability as:
(a)
a possible obligation that has arisen from past events and whose existence will be confirmed by the occurrence or not of uncertain future events; or

(b)
a present obligation that has arisen from past events but is not recognised because:

(i)
it is not probable that an outflow of resources will occur to settle the obligation; or

(ii)
the amount of the obligation cannot be measured with sufficient reliability.
IAS 37 requires that entities should not recognise contingent liabilities but should disclose them, unless the possibility of an outflow of economic resources is remote. It appears that Greenie should disclose a contingent liability. The fact that the real nature and extent of the damages, including whether they qualify for compensation and details of any compensation payments remained to be established all indicated the level of uncertainty attaching to the case. The degree of uncertainty is not such that the possibility of an outflow of resource could be considered remote. Had this been the case, no disclosure under IAS 37 would have been required.
Thus the conditions for establishing a liability are not fulfilled. However, a contingent liability should be disclosed as required by IAS 37.
The possible recovery of these costs from the insurer give rise to consideration of whether a contingent asset should be disclosed. Given the status of the expert report, any information as to whether judicial involvement is likely will not be available until 2011. Thus this contingent asset is more possible than probable. As such no disclosure of the contingent asset should be included.
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